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Instructions for Candidates

I.  Write your Roll No. on the top immediately on receipt of
this question paper.

SECTION A

Attempt the following. (3x10=30)

(a) In your opinion, what is the difference between Hard
skills and soft skills.
OR

(b) What is the importance of soft skills in the workplace?

2. (a) List some of the important ‘roles’ that can be found in

any team.

OR
P.T.O.
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(b) Do you think there are advantages to be gained from
working in teams? Give a reasoned answer.

3. (a) Talk becomes an argument when one person stops
listening. In the light of this proverb, discuss the

importance of Listening in building interpersonal
relationships.

OR

(b) What is the difference between assertiveness and
aggressiveness?

SECTION B
Attempt any three of the following: (3x15=435)

1. What do the following gestures indicate? Give a reasoned

explanation of your interpretation.

(a) Tapping one’s fingers on the table repeatedly
(b) Bending forward and keeping one’s eyes on the speaker.

(c) Leaning back, hands in the pocket, during an interview.

2. Sami, a ten year old boy, decided to study Judo despite the
fact that he had lost his left arm in a devastating car accident.

The boy began lessons with an old Japanese Judo master.
Sami did well, so he couldn’t understand why, after three
months of training, the master had taught him only one
move.
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“Sensei,” the boy finally said, “Shouldn’t I be learning more

moves?”

“This is the only move you know, but this is the only move
you'll ever need to know.” — the Sensei replied. Sami didn’t
quite understand, but believing in his teacher, the boy kept

training.

L]

Several months later, the sensei took the boy to his first
tournament. Surprising himself, the boy easily won his first

two matches, and then to his surprise, Sami was in the
finals!

This time, his opponent was bigger, stronger, and more
experienced. For a while, the boy appeared to be
overmatched. Concerned that the boy might get hurt, the

referee called a time-out. He was about to stop the match
when the sensei intervened.

“No,” the sensei insisted, “Let him continue.”

Soon after the match resumed, his opponent made a critical
mistake: he dropped his guard. Instantly, the boy used his

move to pin him. The boy had won the match and the
tournament. He was the champion.

On the way home, the boy and sensei reviewed every move
In each and every match. Then the boy summoned the
courage to ask what was really on his mind.

173 . . X . Ty
Sensei, how did [ win the tournament with only one move?

P.T.O.
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“You won for two reasons,” the sensei answered. “First,
you’ve almost mastered one of the most difficult throws in
all of judo. And second, the only known defense for that

move is for your opponent to grab your left arm.”
(a) What does this little story teach us about adaptability?
(b) What qualities of a mentor does the sensei display?

(¢) In your opinion, should workplaces encourage disability

awareness?

Why are some people resistant to learning new ideas and
skills? How does it impede their personal and professional

growth?

What do you understand by critical thinking? Bring out the

difference between facts and opinions.

What are the different models of leadership style? Discuss.
Describe a situation when one of your decisions was
challenged by the higher management. How did you respond

to the situation? Illustrate with examples.

What do you understand by Emotional Quotient? How is it
an integral aspect of problem-solving skills?
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st & Rrx FEA |
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= He-u & O e OX gRa o a¥ ST
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or Hindi but the same medium should be
followed throughout the paper.

P.T.O.
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T U9 @ gey ofdeh a1 el fRd ue
T T A A et get AT wh A
BIAT =nfeuw | |

(c) Attempt any five questions.
TRl 9 meet & gdw & |

(d) All questions carry equal marks.
1 e % ofw wEE T

Define Alternate Dispute Redressal (ADR)

mechanisms and discuss various forms of ADR
like arbitration, conciliation, negotiation and

Lok Adalats. |

JHeTE A FERT @i e Hivg ) Yeias

fgare e 9 - Aerwr e9sar go-Sg o9
HE STETAd H TEl BT |

2. Discuss basic structure doctrine of the

Constitution given by the Supreme Court of
India.

Fateg HaEEg & fgo o

SIELIE]
A= OaEra & Far Fhifon b dSTIq

3. What do you understand by Public I
Litigation in India ? How do yoy thinkn‘terest
led to judicial activism ? 1t has
sfea e @ oY 1 augy § -
afpar ® o WeE et § o ¢ Y99 iy
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What is the concept of religious personal laws
in the light of the recent Supreme Court verdict
on ‘Triple Talaq’.

s ST T 5 ar ol ar T ? g A
& AN Teh B F T T ST SeoE e |

Define consumer protection laws. Elaborate the
provisions of Consumer Protection Act 1986.
SYHIRIT TETOT & BT Pl AT HIFT | STHIRT
T STYIH, 1986 & Icoi@ HifdTT |

One of your friends is facing sexual
harassment at her work place and she is
seeking advice to get relief and justice. Advice
her accordingly using the Vishaka case
guidelines.

MY TF AT HA WA 9 A9 IS B R[ReR
g | o9 I fsmar 39 & Ry 7u FRal & dad o
T T S|

You have been duped of money by a fraudulent
insurance policy agent. In light of this incident,
write to the SHO of the nearest police station

bringing out all the essential ingredients of a
FIR.

S Tk dFr Hel gfatfa & onie =0 &
faret 81 391 gt # wordien g |9 § wy.
TSl @ fRga SRR @ vy urefies gEe
Rafe &t #Hifsa | |

P.T.O.
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8.

10.

Define Human rights. Analyze the working of
National Human Rights Commission of India.

wrg oveTd @ e @fene | egrd =
ST STRANT & Hral @B geiehT hiford |
Discuss some important labour laws. Do you

think India needs labour reforms in the wake
of Globalization ?

sRa § sm B 95 weayl otfafwE @ o=t
AT | T o9 gEe § 6 AsdiEmer & g A
TRa T i gyt @ erasgEar ¥ 7

Write short notes on any two of the following : .
Sreffeg § @ R @ o dfa fewelt e
(a) Writ jurisdiction
e (ReE) a=iEen
(b) Bail
STHTAT
(c) Anti-terror laws
Alqerare QT s
(d) Maternity Benefit (Amendment) Act, 2017
qrged arq (dHees) stfefeas, 2017

1200
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Instructions for Candidates

1. Write your Roll No. on the top im 1 ‘erly on receipt of
this question paper.
2. All questions are compulsory.

3. Unless otherwise required in a question, answers should be
written either in Sanskrit or in Hindi or in English, but the

same medium should be used throughout the paper.

Bl & fou fFew

1 =@ -1 @ faem & IR Ry e FuiRe e o S Sisen
farfeaw |

2. |t ye afHEd 2

3. mmmqﬁw,mmawwmmﬁaﬁm
G el e T A S, e @ IR A Y € A
e |

P.T.O.
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1 Fffed ¥ ¥ R uw wi @ 3w R (12)

~Answer any one of the following questions

(37) Ay W N oI W qY @R T A AR
HINT |

Define Jyotisha shastra and explain its ‘T==g’,
(¥) R TR SR A e W g REe R |

Write an essay on ‘Indian Jyotisha and human life:’

2. TfiEs ¥ 3 el @ w Rwdht fife .

(12)
Write notes on any two of the following :
(%) R -  Horashshastra
(@) R@= - Siddhanta
(7) #ETEET - Muhoortashastra
3. feefafes 4 @ fesdl i\ w1 sae R (18)

Translate any three of the following :
(1) wgewe fedgfmnioreafy |
MRS A AT WA 1)



(3) woremmE fdaey W@ w@w T

FO TN AR IS T T

(4) = <rofemy: TR qEEe: |
TS ¥ R A W e

4. Trefofam ¥ @ fpedl @ & = =+ (18)

Explain any two of the following :
(1) AR FEar a@ g aifRoaem |
e el = W@ wwonwET 1)

(2) % 7= 90 s T Rem w5 v
@Tﬁﬁﬂ%ﬁﬁﬁ%ﬁﬂﬂzm:ll

(3) =fomd wed Wt = A RS
e ¥ we R 9 a9 !

P.T.O.
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5 freRied ¥ ¥ el @ w P fferg

Write short notes on any three of the following :

e - Nakshatra
Qra|afe - Savandin
IR - Vaar

F=1fedsT - Nandadisangya
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Rovi— 5 ¥e797 97 3¢ sdeh a1 fet frdt o
ST @ifsF a4 3T %7 wream ww & @7 e
Attempt five que.;tions. All questions carry equal marks.

f2l aig ¥ & 3% T | a9 5o & 9% gy &)

.Use of simple caculator is allowed.

5x3=15
Q1. a) Describe the various methods of collecting primary data.

b) Explain the concept of statistical significance. What does the statement mean “the sample
mean is significant at the 5% Level of significance”?

¢) Explain the terms: (i) Type | and Type |l errors; (ii) Critical region
(31) wrafaes iwsr & a@agor # R AT & g &t |

() ETE AT % 3AUROT & AT H | FUT “5% FiFAT § TR |
&a AT wEE ¥ @ ad war E 2

@) = # avia & : () Raw & 180 geR (i) aweel e

Q2. a) Show graphically the position of mean, median and mode in a positively and negatively
skewed series. 3

P.T. O.
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b) The arithmetic mean of the following frequency table is 50. But the frequencies F1 and F2 of
classes 20-40 and 60-80 are missing. Find the missing frequencies. 10

Classes | 0-20 20-40 4060 | 60-80

Frequency | 17 F1 32 | F2

80-100 Total
19 120

SN,

(N)WWHWWmMﬁmw;HﬁWWW$ﬁQﬂ%3#
I GErT @ |

(@) TR IRaRAr ARl & st w50 ¥ | Afa @4t e 20-40
Ud 60-80 F SRERA 1 Ud 2 Fod & | ood aNaRan # AT F |

| Classes 0-20 20-40 40-60 60-80 80-100 Total
Frequency | 17 F1 32 F2 19 120 |

Q3. a) What is dispersion? Discuss the merits and demerits of (i) Range; (ii) Mean Deviation. 7

b)The coefficients of variation of wages of male workers and female workers are 55 per cent
and 70 per cent respectively, while the standard deviations are 22 and 15.4 respectively.

Calculate the overal! average wages of 100 workers given that 80 are male and 20 are female
workers. 8

(3)mm%?(i)ﬁm?(ii)mﬁmtqwuéaa§wmﬁmm

(M)IFT FGY T3 AfGeAr AAGI F AAGY F RAROT 1 IO FA: 55 Gy g
70 wfoRra €, SefF 9AT Faes HAw: 22 Tur 15.4 ¥ |100 Hoigy i o Hrad
AFGH I FE § Fafh 80 I d 20 AR Helgy § |

Q4. 2) What is meant by correlation? Distinguish between positively, negatively and zero
correlation. 5

b) The demand of TV sets as obtained by sample survey on 7 towns are shown below: 10

[

Population | 11 14 14 17 17
(in
thousand)=
x —
Demand 15 27 27 30 34 38 46
for TV sets

Y

21 35

Find the linear regression equation of Y on X and find the demand for TV sets in a town of
population 30 thousand.

(37) FEEEY & FAN WA & | UACHF, ROUHE U4 [y Hgeiatr & dra e
I B |
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imation
| (in

% thousand)= |
X o
Gémand
for TV sets

S S—

1

14

i
|
|
F
;27
|
B

14

27

q

17

30

17

34

21

38

35

46

v X & YT TdlTIEa FHER0T # A FY qur 30 g AAEET T AT A &
& I § AT /T 719 W |

Q5. a)What is index numbers? Analyse the use of Index numbers.

b)CzlculateLaspeyres’s and Pa.che’s index number from the foliowing data. Do they satisfies

the time reversal test?

10

- Commodities Price {(Rs) 1960 | Quantity 1960 | Price (Rs) Quantity 1961
! : ' 1961

Bread 40 6 30 8

Sugar 45 4 50 5

Tez 45 2 40 3
- Butter 50 |5 50 )

(37) T ar & ofadie & 3UAET F favewr #Y |

ga)WMHmmgm@mtmmmﬁlw
TF FEY AHAUT F1d F AE AT § ?

1

‘Commodities | Price (Rs) 1960 | Quantity 1960 | Price (Rs) Quantity 1961 |
I R 1961

| Bread 0 6 30 8

| Sugar 45 4 50 5

Tea 45 2 40 3

\Butter  [50 5 so s ]

Q6. a) Describe a normal distribution with a graphical sketch in context to probability and its
properties. 5

b) Suppose three coins are tosscd together. List the element of the sample space, the
corresponding probability and e corresponding values of weights (h) of the random variable
H, where H is the number of heads appear. Give pictorial representation of probability mass
function using line graph, 10
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(y)mtmﬁmmﬁaﬁmwmmwﬁmww
sEd  fawans & aasd |

(@) 7T & S BFR F TF WY IH;AT A1 ¢ | &8 W H F 61 (h) & dafeug
Hoa, gafeud Wifdedl a1 AHAT S8 % dea F QST Fe@ H 3TRUT fA (head)

zﬁrmmmmmmpq@mm{gm*wmmf
|

Q7. a) Explain the term “skewness” “moments” and “kurtosis”. ¢

b) Pearson’s coefficient of skewness for a distribution is 0.4 and coefficient of variance is 30%.
Its mode is 88. Find the mean and the median. 9

(3nainard, fawAar va gqyeidca &1 avta &1 |

(@) U facor & REde &1 fawAar &1 qonE 0.4 § JU GHOT &1 o 30
wﬁamﬂmagmasm:nmamnﬁ‘uwmaﬁl

Q8. a) Suppose X is binomially distributed with parameters n and p. if E[X)=5 and var[X]=4, find
nand p. ’ 5

b) In an assembly line operation, 1/3 of the items being produced are defective. If three items
are picked at random and tested, what is the probability: 5

(i) That exactly one of them will be defective.

(ii) That at least one of them will be defective.

c) Briefly explain the significance of Index numbers and its limitations. 5
(37) AT & X wrene n vd p & |y furd FaRa € | o E(X)=5 va var(x]=4,
A n T p AT W

(@ TP W s & 3aafa #eY § 1/3 A @e 8| afe i At @ 29
¥ ¥ Ao Srar € aw S R o, @ sl wiiear F=4r E fE -

() 37X & IRdq & UF T g |

(i) 3% ¥ 7 ¥ H7 oF @G QT |

(7)) fAdus & s awr su% At @ @fFe & Rdwer #51 |
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2. Tty fHEd ®
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3 wfys - Rifaa sSfemsy ¥ s @ @ ® P T i (10)
Jreran

T avesa A ¥ @1 wee folRaw

4. VR ® IR W = & Al Fife W TR e |
(10)

AT

TE -GNE W & m‘w'm%‘?waﬁml

5. ew H g W e ' AR (10)
3rerar -

TA-AET A IFUCE AT T HIT |

6. Ty #1 FEms @ Ier i ) (10).
Jrerar '

g AU A FER e W WEE R g S |

7. R e W Rt fofew (8,7)
(i) e

(ii

) TR e
(ifi) foew TeeT- @A
) A

(iv (500)
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SR CE I | C
: WeTo WUW (vt Bd)

. st . @, LSEC/DSE - I

\:‘%RAR‘ Wgﬁa? . 75
ﬁa” |

1 wm-w%ﬁaﬁﬁwﬁqwﬁuﬂi‘awmmw

v |
2. A UM B I Ao |

1 ﬁamwaﬁaaﬁgwﬁam%mmﬁﬁmaﬁﬁwl

JAuar

A AR - ¥ e @ e Wy IR | (12)

2. Wmﬁmﬁu%mmwégqﬁ?mm%%vﬁﬁ

AR T T i |

P.T.O.
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F e & A S A when A (12)

Rg- oW @) fAnivaw adq g R e efasmr fasmue Ay
fRzawo ST |

Jreran
{-fasT =1 B0 ® 7 TR aET A T Wi 3 we ww
AR | (12)

4. TeEgAE WA R M wem @ e AW w1 s S

WL FIT |
DG

T w yaid RS e &) sone Rtwast 5 S ke
TUT FITAT | (12)

5. fo=i 9= w fru fafRau - (9,9.9)
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(Write your Roll No. on the top immediately on receipt of this question paper.)
| All questions are compulsory. |
All commands should be written in software R.
1. Do any five of the following : | 5x1
State- whether the following statements are true or false.
The commands for the following matherﬁatical expressions
are : |
() NJ2+3 issq2) +3
(i) 4 !is fact(4)
(iii) tan”' x is atan(x)
(v) x| + 3 is abs(x) + 3
(v)  Is R language key sensitive
(vi)  If datap is a ten item vector then datap[1 : 3] command

show only one and third items.

P.T.O.
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Do any five of the following : o

Fill in the blanks

()

)

(v)

(v)

(vi)

(a)

(b)

command is used to plot histogram. (hist( y/

....................

histo( ))

The command to produce five basic quartiles
IS eeerveeenneeenn (Quartile( )/quantile( )

If you have an xtabs object ““Y’’, then write the command
to ressemble it into a data frame ...

(as.data.frame(as.matrix(Y))/as.data.frame(Y).

Data frames are ................ dimensional. (one/two)

To generate ten random numbers uniformly, we use

command ............. guinf(10)/ruinf(10)).
The Kolmogorov-Smirnov test is applied for compare

distributions (within one/two)

..............

Write the commands for the following : 2x8

(i) sin (30°)
(if) last 150 commands executed.
(i)  Using scan command create simple data items

containing the text stating the following days of

the week :
Mon Tue Wed Thu Fri Sat.

(i) Write a command to remove all the elements

containing ‘r’.
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Why should you use R |anguage for statistical work ©?

Generate a 4 x 4 matrix ang hame it as MAT. Then find

the mean of the second row of the matrix MAT. Also,
find the row sums of the same matrix.

Write\syntax to generate ‘n’ random values of

()  normal distribution

(/1) uniform distribution.

Describe density function with 3 x 4 ma.trix example.

A data file is given with name bird :

A | B C D E
X 2 | 14 15 40 10
Y 8 | o | o7 09 | 1
V4 30 | 20 | 25 10 35

()  Extract third columns
(i)  Transpose bird data
(/iif) Find max and min items

(/v) -Make histogram of X




<

(h)

Do any four of the fallowing :

(a)

Make a score data file

81 81 | % 77
95 B | 73 8
N P | 93
80 8% | & 60
79 R | 14 |

Draw a stem leaf plot.

1454

3x4

Consider the follvowing course grades of randomly

selected students :

%
26
50
42

43

46

48

Write commands for :

()
(¢1)
(iif)
(v)
)

Putting data into a variable x

Creating a scatter plot of x

20

38

29

20

41

Creating a box plot of x

Creating a stem and leaf plot of x

‘Creating a normal probability plot of x.

31

21

40

48

27
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(b)  The following data gives, for each amount by which an
elastic band is stretched over the end of a ruler, the

distance that the band moved when released :

Stretch Distance

148
182
173
166

4 R 109 |

2 14]

52 166

(i)  Create datav frame of the above data.
(/) Convert the data frame into matrix, .
(iii) Convert the data frame into table.
(v)  Draw box plot of the given data.

(v)  Label the axjs of the plot.
P.T.O.
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(d)

(e)

( 6 ) | 1454
() Create a sample of 50 numbers which are
incremented by 1.
(i1) Createythe binomial distribution of 50 numbers with
probability 0.5.
(7)) Find the probability of getting 26 or less heads from
a ioss of a coin. (using binomial distributioh) 7_
(v) How many heads will have a proBability of 0.25 \N;i”
come out when a cojn is tossed 51 times ?
(v) Find 8 random values from a sample of 150 with
probability of 0.4. (using binomi'al ‘distril.)ution).
Generate 50 random variable using Poisson distribution

9

binomial distribution and plot one distribution to

another.

If a data2 file is given :

data2 = 3,5, 8, 7, 9, 6, &, 6, 3, 5, 4, 7. 3, 6, 2

3

Which test apply to compare this sample to normal

distribution also write command.

500
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1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any two parts from each question.

l. (a) Consider the transportation problem with

four origins, six destinations and data as

follows :

P.T.O.
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Destination | A B C D E F Supply
Origin

1 7 6 S 8 7 8 16

2 2 5 6 7 4 6 12

3 2 2 1 3 3 1 10

4 1 3 4 3 2 5 18
Demand S 11 3 13 7 17

(1) Find the initial basic feasible solution using

the Least cost method and North-West
Corner Method.

(i) Compare the solutions obtained in (1).
(7)
(b) Given X3 = 50 units, X,4 = 20 units, X, = 35 units,

X3, = 30 units, x,, = 35 units, and X3, = 25 units.

Is it an optimal solution to the transportation

problem :
D, D, D, D, Available
units

Sy 6 [ 9 3 70

S, 11 5 2 8 55

S3 10 12 4 7 9
Required 85 ' 35 50 45
Units ‘—J

e ————
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If not modify it to obtain a better feasible

solution.

(c) Obtain an optimal solution to the following

3

transportation problem:

Warehouse Wy W, W, Supply
Factory

Fy 4 5

F, I 8

Fs 7 7

F, | 2 14
Demand 18

2. (a) A company is producing a single product and is
selling it through five agencies situated in different
cities. All of a sudden, there i$ a demand for the
product in another five cities not having any agency
of the company. The company is faced with the

problem of deciding on how to assign the existing

agencies to dispatch the product to needy cities in

P.T.O.
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such a way that the total travelling distance i
minimized. The distance between the surplus and

deficit cities (in km) is given by :

Deficit City A B c D E
Surplus City

A |10 5 9 18 11

B |13 19 6 12 14

c |3 2 4 4 5

D |18, 9 12 17 15
B E |11 6 14 19 10

Determine the optimum assignment schedule.
(7)

(b) Define Transportation and Assignment problems
with example. Is the assignment problem a special

case of transportation problem? Justify your
answer, (7)

(¢) Minimize the total distance traveled by the

salesperson. Distance table of five cities is given
as below : (7)
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To city
From city I 1 111 1v \
I " o 120 220 150 210
IX 120 Ly 80 110 130
III 220 80 © 160 185
IV 150 110 160 0 190
\4 210 130 185 190 ©

3. (a) For each network in the following figures (i) and
(11), determine a path, a cycle, a tree and a

spanning tree. Determine the sets N and A for
these networks.

Also, draw the network defined by
N={1,2 34,5, 6)

A= 1{(1,2), (1,5), (2,3), (2,4), (3,4), (3,5), (4,3),
4,6), (5,2), (5,6)}. (7)

(b) For the network in the following figure, use Floyd’s
algorithm to find the shortest routes between every

two nodes. .The distances are given in kilometres

P.T.O.
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on the arcs. Arc (3,5) is directional, so that no
traffic is allowed from node 5 to node 3. All the

other arcs allow two-way traffic.

6

(c) The activities associated with a certain project

are given below :

Activity Predecessors Time duration
(in weeks)
A _ 3
B A 5
C A 7
D B 10
E C 5
F D, E 4

(i) Draw the associated network for the

project.

(ii) Find the minimum time of completion of

the project.
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(i) Determine the critical path and critical

activities for the project network.

4. (a) The network in the following figure gives the
permissible routes and their lengths in miles
between city 1 (node 1) and four other cities
(nodes 2 to 5). By using Dijkstra’s algorithm,
determine the shortest routes between city 1 and

each of the remaining four cities. (6.5)

(b) Rentcar is developing a replacement policy for its
car fleet for a 4-year planning horizon. At the
start of each year, a decision is made as to whether
a car should be kept in operation or replaced. A
car must be in service a minimum of 1 year and
maximum of 3 years. The following table provides

the replacement.cost as a function of the year a

car 1s acquired and the number of years in

operation. Formulate the problem as a network in
which nodes 1 to 5 represent the start of years 1
to 5, (6.5)

P.T.O.
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Equipment Replacement cost ($) for given years in operation ]
acquired at start 1 2 3 ]
of year ]
1 4000 5400 9800 |
2 4300 6200 8700
3 4800 7100 e
4 4900 -

(¢) The Optimistic time (t,), pessimistic time (tp) and
most likely time (t ) estimates (in weeks) for the

activities of a PERT network are given as follows:

Activity to tp tm
1-2 1 13 7
1-6 2 . 14 5
253 2 26 14
24 2 8 5
3-5 7 19 10
4-5 5 17 S
6—7 5 © 29 8
5-8 3 9 3
7-8 8 32 17
|

Draw the project network, determine critical path,
expected project length and calculate the standard
deviation of the project length, (6.5)

(1500)
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Attempt any five questions in all. All questions carry

equal marks.

3. Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.

BEl ® e A3y
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HHHTE forfauy |
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g Fped dig WEA E B & @E WS T A de
|
cd e T2 Al T FUS 31 B e ve wwr ¥ At

Al @ IHA &1 HIeO® TS Bl BT 91y

Do you agree with the view that Popular Culture 1s
stmilar to Mass Culture” Flaborate.
a3 gl faar A e & fe snafun AplA o il

SRR TRI] T ldede aqreaar af o)

trace the evolution of theatre and dance within the
Indian Popular Culture.

TRAE A wEFT @ e e R 3 & faww w6
waifed &

Docs Folk songs and Folk dances reflect the regional
variations of India? Explain with suitable examples.
e ME AR A T WA & e fafauae s oEmid

27 U @ Iqaes IO IER e F

“xplain the significance of ritual practices in Indian

hve cetebrations,
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TRAE IFa A T - g3l & Aeed &) ARl H

N

Do you think that ritual traditions reflect the cultural

diversity of India? Elaborate.

& Tt 27 faege wwen kR

6. Climate and geography determine the development of
dietary habits and cuisine of a region? Explain with

examples.

Teag AR e R & F SR g9t sed i e
= faFm = FuiRa @ g7 Jeewr ot e Rl

7. Fairs in India are not only significant centers of culture

but also hub of commercial activities. Elaborate.

AR F A A Sad GEhA & Aeaqul Ty B dfed AEEIdE
wfafafaai = ¥ @7 21 fawa =wen fifkw

o0

Analyse how Pilgrim centres have contributed towards

the development of tourism in India.
gy &Y {6 s A wied @ Rawy A QF B A 3

P.T.O.
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How does popular cinema impact the family, marriage

and human relations in Indian society?
VIRAM FA H SEg e aRar d@R Rae densy @ A
G Ha T ferd wRe weifag @w @ 27

Write short notes on any two of the following.
frfofiaa ¥ & foredl @ w @fors frorft fifaw
I. Urs in Ajmer

FAW H 39

2. Tantric Practices
3. Legends
4. Nautanki

At
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